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for (Transaction t : transactions) {
- if (t.getTime().compareTo(start) > @ &% t.getTime().compareTolend) < @) {
+ if (t.getTime().compareTo(start) »>= @ && t.getTime().compareTolend) < @) {

list.addi{t);
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1. System Test CHS
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if (week <= 8 || week > weekMax) {

if (values[i] <= @ || values[i] > 45) {

long weekMax = (new Date().getTime() - new Date(102, 10, 3@).getTime()) / (7 * 24 * 60 * 60 * 1000);
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e JIE EAI AT switch 2

switch (answer) {
case JOptionPane.YES_OPTION:
try {
system.askrRenewCard(true);
} catch (DataStoreError ex) {

AL
H Tgxg

JoptionPane. showMessag

setLocalizedstring(syste ing() + " is requested to renew"),
"Info",
JoptionPane . INFORMATION_MESSAGE);

case JOoptionPane.ND OPTION:

arentrrame.setCcontentPane(new Selectrunction{parentFrame, sys
i . 3 4

parentFrame. invalidate();
parentFrame.validate();
break;

if (answer == 8) {

try {

system.askRenewCard(true); J\X-| _C'>_
} catch {DatastoreError ex) { =
)
1
JoptionPane.showsMessageDialog(parentFrame, card tostring() + "
"Info",

JoptionPane. INFORMATION

parentFrame.setContentPane(new Selectfuncticn(parentFrame, sy

lidate();

paremntrrame. inv

paremtFrame.validate();
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[1 calcBillamount cashémount ., String cashTwpel {

[1 bills = [11]
[1 bBillTwpe
length

fcashTwpe)

billType =
length = billTwpe.
[ i = . length: i++]) 4
bill cashdmount / billTvpe[i]
bills[3 - i1 = bill
cashémount —= billType[i] + bill

bil ITvpe = [14
length = billTwpe.

[ i = i = length: i++) o

bill = cashémount # billTwpe[i]
bill=[ - i] = hill
cashdmount —= billTvpe[i] + bill

return null;

return new int[]{e,8,8,8,8,8,0,8,8,8,8%,
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tCardListi)

setlocalizedstring(system, card[i].tostring() + " FIES EXHEGHEUT", card[i].tostring() + " is now closed"),
setlocalizedstring(system, card[i] + * FIES SXHF =L, card[i] + " is now closed"),
"Infa",

JoptionPane. INFORMATION_MESSAGE);
lic class ReportLostCard extends JFrame {
} catch (Datastoreerror ex) {
}
1

JoptionPane.showMessageDialog(parentFrame, setlocali

card[i].tostring() + " FIE

EE W2 BHGISEUD", card[i].tostring() + " is requested to renew"),
1optionPane.showdessageDialog(parentFrame, setlocalizedstring(system, card[i] + " 7IES MEZ RFCIG=UO", card[i] + " is requested to renew"),
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« User Frame, Admin Frame & 2| 0{ X| A| Xt

Maini) |
i
JF ramef

JFramer

Main getInstancel) { . 2
) e et public -> private

= Main( )

AT Hot 2| 52

- public JFrame userFrame;
- public JFrame admi ame;
+ private JFrame userrFrame;

i
+ private JFrame adminFrame;
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= Code Smells == ‘ulnerabilities

May 30, 2018, 8:29 PM

-— 5 G Bugs
= 288 @ code smells

-— 7 Vulnerabilities

Events: €
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300

100

= Code Smells = Vulnerabipfies

June 10, 2

- 21

Events; <

018, 1:31 AM

1] @ Bugs
1 e Code Smells
1] @ Vulnerabilities

Thu 31 June Jun 03 Tue 05
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